LESSON 26

MA 26100-FALL 2023
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(Spring 22 Exam 2 #4)
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ANNOUNGEMENTS

* Dr. Hood must leave promptly after the 4:30pm class to
substitute for another class




Find the value of fc f (x,y)ds where C is the curve parameterized
by ¥(t) = (t,t)for0 <t < 1. 1C(~,[,(9) ’")Lwl—la_
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Evaluate the line integral . x*y ds where C is the top half of the

circle x4 + y2 = 4 Jc,wmo
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Find fc xeY? ds where C is the line segment from the point

(0,0,0) to (1,2, —2). d_ ivee o vetbor =<1, 2,-27
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(Spring 23 Final Exam #13)

Compute the line integral fc (2x + y) ds where C is the line
segment from (0,0) to (6,8).

a) 80
b) 120
c) 140
d) 100
e) 160




MUDDIEST POINT

What was the muddiest point from today’s lecture?

a) Setting up a line integral
b) Parameterizing the curve C
c) Solving the line integral

d) None — understood everything today
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